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1.  Where should an object be placed in front of a|5.  What is the effect of pressure of a human body
convex lens to get a real and enlarged image of on sand ?
the object ? (a) Larger while standing than while lying
(a) At twice the focal length ) Smaller while g thin while lying
oy " (¢) S hile standing or lyi
¢ ame while s or
(¢) Between the principal focus and twice : o
the focal length (d) Larger while standing during the
. daytime and smaller during the night
d) nd twice the focal |
: T Sagth time while lying
2. The magnetic field lines inside a current
carrying long solenoid are in the form of
3 6. An athlete completes one round of a circular
(@) minges. track of diameter 100 m in 20 5. What will be
(b) parabola. the displacements after 1 minute and 10 s,
(c) hyperbola. respectively ?
(d) parallel straight lines. W Om, 80m
(b) 800 m, 100 m
8. A ray of light travelling from a rarer medium (¢) 300m,50m
to a denser medium
(d Om,100m
(a) slows down and bends away from the
normal.
b) sl d and bends ards th
il i Y i ®(7.  Which of the following statements about
universal indicator is/are true ?
(¢) speeds up and bends away from the
normal. 1.  Itis a mixture of several indicators.
(d) speeds up and bends towards the 2. It shows different colours at different
normal. concentrations of hydrogen ions in
solution.
4.  An electric circuit is consisting of a cell, an 3. It helps to determine the strength of
ammeter and a nichrome wire of length /. If given acid and base in titration.
the length of the wire is reduced to half (1/2), : 7
then the ammeter reading :llecttheeomctamwerumngthecodeng
ow :
(a) decreases to one-half.
(a) 1only
(b) doubled.
i (b) 1and 2 only
(¢) decreases to one-third.
(¢) 2and3only
(d) remains ;
e @ 1,2and3
NYRG-B-GNL (3-A)
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Which of the following carbon allotropes is/are
good conductor(s) of electricity ?

1. Diamond
2.  Graphite
3.  Fullerene

Select the correct answer using the code given
below :

(a) 1lonly
(b) 1and 2only
(e¢) Z2only
(d) 1and 3only

What is the approximate percentage of carbon
in the Earth's crust ?

(a) 0:045%

(b) 0025%

(e) 0015%

(d) 0005%

When copper reacts with moist carbon dioxide
(COy) in air, it forms a green coating of which
one of the following compounds ?

(a) Cupric carbonate

(b) Cuprous oxide

(e)

(d)

Cupric oxide
Copper sulphate

What is the name of the process that converts
sulphide ores into oxides by heating strongly
in the presence of excess air ?

(a)
(b)
(e)
(d)

(5~

13.

14,

15.

A)

What are the constituents of alloy solder ?

(a) PbandZn
(b) Pband Sn
(¢) PbandSi
(d) PbandCo

Which of the following limits the number of
trophic levels in a food chain ?

(a) Deficient food supply

(b) Polluted air

(¢) Decrease in the available energy at
higher trophic levels

(d) Parasitic organisms

In pea, a pure tall plant (TT) is crossed with a
short plant (tt). What will be the ratio of
pure tall plants to short plants in the F,
generation ?

1:1
1:3
3:1
2:1

(a)
(b)
(e}
(d)

Which one of the following statements about
variations is nof true ?
(a)

Variation 18 minimum in asexual

reproduction.

All variations in a species have equal
chances of survival.

(b)
{e) Changes in genetic constitution result in
variation.

Variants can be selected by
environmental factors.

(d)
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While studying vegetation of an area, terms
like ‘population’ and ‘community’ are often
used. Which one of the following statements
best describes a population ?

(a) A group of organisms of one species,
living in the same area at the same
time.

(b) A group of organisms of one species
living in different areas during different
Seasons,

(¢) A unit consisting of biotic and abiotic

components.

(d) A group of organisms of more than one
species, living in the same area at the

same time.

In the human body, blood flows through a
process of double circulation. Which one of the
following statements is true in this regard ?

(a) Oxygenated blood reaches the left side of

the heart from the lungs.

(b)  Blood in the left side of the heart is poor
in oxygen and is brought to the right

side of the heart,

(c) Deoxygenated blood from the left side of
the heart is brought to the lungs for

oxygenation.

(d) Oxygenated blood from the right side of

the heart is sent around the body.

(7-

18.

19,

A)

In which of the following groups of organisms,
is food material broken down outside the body
and absorbed ?

(a) Yeast, mushroom, bread mould

(b) Mushroom, Amoeba, green plants

(¢c) Caserta, tapeworm, lice

(d) Paramecium, Amoeba, Caserta

A sound wave has a frequency of 4 kHz and
wavelength 30 cm. How long will it take to
travel 2:4 km ?

(a) 20s

(b) 06s

(c) 10s

(d) 80s

An electric bulb is connected to a 110 V
generator. The current is 0-2 A. What is the

power of the bulb ?
(a) 022W
(b) 22W
() 22W

(d) 220W
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Refraction of light, as it enters from one
transparent medium to another, is due to

(a) change in temperature of the media.
(b) change in the amplitude of light.

(c) change in speed of light.

(d) internal property of light.

A bus starting from a bus-stand and
moving with uniform acceleration attains a
speed of 20 km/h in 10 minutes. What is its

acceleration ?

(a) 200 km/h®

(b) 120 kmv/h?®

(¢) 100 km/h>

(d) 240 km/h®

Which one of the following is the correct
reactivity order of metals reacting with dilute
HC1? :
(a) Mg>Al>Zn>Fe
(b) Mg<Al<Zn<Fe
(¢) Mg>Zn>Fe>Al

(d) Fe>Mg>Al>Zn

Which one of the following acids is secreted by
leaves of Nettle that causes painful stings ?

(a) Methanoic acid
(b) Citric acid
(¢) Tartaric acid

(d) Acetic acid

27.

(9-A)

Which of the following statements is/are
correct ?

j X All the bases are alkali.
& All alkalis dissolve in water.

3.  Alkalis are soapy to touch, bitter in taste
and corrosive in nature.

Select the correct answer using the code given
below :

(a) 1lonly
(b) 1and3only
{¢) 2and3only
(d) 3only

Which one of the following materials is
present in a guard tube (drying tube) that is

used for preparation of HCI gas ?
{a) Calcium chloride
(b) Calcium bromide

(c) Calcium iodide

(d) Calcium fluoride

Fertilizers are used to obtain higher yields of
crops. However, all nutrients are usually not
available in fertilizers. Which one of the
following nutrients is usually not available in
fertilizers ?

(a) Iron

(b) Potassium
(c) Nitrogen
(d) Phosphorus
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Rupa and Sachin observed an animal in their
school garden. Rupa called it an insect while
Sachin identified it as an earthworm. Which
one of the following characteristics confirms
that it is an insect ?

The animal had jointed legs.

Body of the animal had very little
segmentation.

Body of the animal was cylindrical.

Body of the animal was bilaterally
symmetrical.

(a)
(b)

(c)
(d)

Animals which are marine, bilaterally
symmetrical, have a coelom and a notochord,
but never form a vertebral column are placed
under which one of the following groups ?

(a) Chordata

(b) Protochordata
(e) Vertebrata
(d) Mammalia

What is the location of intercalary meristem in
plants ?

(a) Base of the leaves or internodes

(b) Stems or roots

(¢) Tips of stems and leaves

(d) Base of flower pedicel

The federation of which one of the following
States has been described as “an
indestructible union of indestructible states” ?
(a) India

(by USA.

(¢) Canada

(d) Australia

32.

(11-A)

Who among the following is the author of the
famous essay, ‘The End of History and the
Last Man’?

(a) Francis Fukuyama

(b)  Daniel Bell

{¢) Abraham Lincoln

(d) Anthony Giddens

Which one of the following statements is not

correct ?

(a) Allahabad High Court has a Bench at

Lucknow.

(b) Madhya Pradesh High Court has a

Bench at Gwalior.

(¢) Rajasthan High Court is located at

Jodhpur.

(d) Guwahati High Court has no Bench.

Which among the following is not a condition
for the disqualification of a Member of
Parliament ?

(a) Voluntary acquisition of citizenship of a

foreign country

(b) Holding the office of the Chairperson of

the National Commission for Women

(¢) The Member abstains from voting in the

House without prior permission

(d) The Member holds the office of the
Chairman of the Board of Directors of
the National Coal Development

Corporation Ltd.
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85. Who among the following considered the

Directive Principles of State Policy as aiming
at ‘furthering the goals of social exclusion’ ?

(a) B.N.Rau

(b) Granville Austin
(¢) K.C. Wheare

(d) Rajni Kothari

86. D performs her train journe y by the shortest
route from Bengaluru to New Delhi. Which
one of the following rivers will she not cross
while performing the journey ?

(a) Narmada
(b) Yamuna
(¢) Godavari
(d) Krishna

37. Identify the State on the basis of the following
characteristics :

1. Tropic of Cancer passes through the
State.

2. The State has more north-south
extension,

3. The State has international border with
Bangladesh and Myanmar.

Select the correct answer using the code given

below :

(a) Tripura

(b) Mizoram

(¢) Nagaland

(d) Manipur

NYRG-B-GNL

(13-A)

88. M wants to visit a place in a Union Territory,

which is located at 34° N and 77° E. Which
one of the following Union Territories must he
have planned to visit ?

(a) Andaman and Nicobar Islands
(b) Lakshadweep

(¢) Puducherry

(d) Ladakh

Consider the following statements with
respect to the adolescent population (age
group of 10 to 19 years) of India, according to
the 2011 Census :

1.  Adolescent population comprises half

the population of the country.

2. The group is regarded as youthful
population with high potential.

3. In this group there are greater number
of females than males.

Which of the statements given above is/are
correct ?

(a) 1only
(b) Z2only
(¢) 1and2only
(d) 2and 3only

In a discussion, M from Arunachal Pradesh, J
from Assam, N from Meghalaya and S from
Nagaland are claiming that as per Census
2011, their State has the maximum density of
population. Identify the person making the
correct claim.

(a) M

(b) J

() N

d S
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42,
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frefafen sefn sl oonsit & @ frael
U1 YT ol § reia we) i 6w o
(a) 39

(b) watq

(c) WHZI

(d) figam

HIH-FH TEre fore yriw foman or 2
(a) #HW, IR

(b) e et

(0 S, TarEm T

(d) SETEETE RS

yrefia Wty gt § aftfa s s awfien €
srafeufy @1 fregu feas fm 2

(a) SFSAFIAET HFEH
(b) SR, A
(¢) A wrefer

(d) 3 T e

fr=fefiaa & & @ 9 s 720 8 2
(a) WZETE

(b) @

(c) ®ftwg

(d) forgaan feama

wTa |, werenn e Y geeht wrwql gt
Fufeafa #al g 2

(a) EYROT (1917)

(b) W (1918)

(¢ @nE fig fvafaaes & sgue e
5 (1916)

(d) iz TR (1919)

46. A9 &% #ETYT & an ° frafafed wuEi @

47.

(14-A)

ﬁi’l’(?ﬁﬁﬂz:
1. o Ffeew w1 IgE R |

2. W& AU U9 R 3R gEE fefue
sfereal &1 ded Fae wemay s |

I FYA § A BRAVER g 2 0
(a) a1

(b) et 2

© 132 3

d A 1,79¢2

Frfafaa § & feed fedt qug 1 ot a9 &
Ffew san-=gra & weba & 2

(a) g Fma 4 gfgdq
(b) 3= wvgi ) Hma #§ gfgdq
(c) 39NIeRT 1 3119 | gftads

(d) I it gEE aft wefreare §
gftads

frafafaa & & Fd fedt safe Gramem
&1 3rEET @ ® 2

(a) q%@ 29 @@

(b) @ 3 @0 3N TR gRT awq # e
AT

(c) g fu mu wsft sl #1 gewr

(d) gatow & a5 % faweq #1 qew, f@ Bie
T man 2
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Who among the following ancient Indian kings
was praised in glowing terms in the Prayaga
Prashasti ?

Ashoka
Harshavardhana
Samudragupta

Bindusara

(a)
(b)
(c)
(d)

The Self-Respect Movement was initiated by
(a) B.R. Ambedkar

(b) Jyotiba Phule

{¢) E.V. Ramaswamy Naicker

(d) Jawaharlal Nehru

The location of the ancient city of Taxila
(Takshshila), mentioned in ancient Indian
texts, was identified by

Alexander Cunnigham
R.D. Banerji

John Marshall

Daya Ram Sahni

(a)
(b)
()
(d)

Who among the following was not a Jain
Acharya 7

(a) Bhadrabahu

(b) Khema

(¢c) Haribhadra

(d) Siddhasena Divakara

In India, the first major public appearance of
Mahatma Gandhi was in

(a) Champaran (1917)
{(b) Kheda (1918)

(¢) Inauguration of
University (1916)

Rowlatt Satyagraha (1919)

Banaras Hindu

(d)

46.

47.

(15-A)

Consider the following statements about
Patanjali's Mahabhashya :

1. It makes a mention of Kautilya.

2. It is a book on grammar and refers to
historical personalities only incidentally.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2only

(¢) Both1land2
(d) Neither 1 nor 2

Which one of the following may lead to
movement along the demand curve of a
commodity ?

(a) Change in its price

(b) Change in price of the other
commodities

{¢) Change in income of the consumer

(d) Change in tastes and preferences of

consumers

Which one of the following is the opportunity

cost of a chosen activity ?

(a)  Out of pocket cost

(b) Out of pocket cost plus cost incurred by
the Government

(¢) Value of all opportunities forgone

(d) Value of next best alternative that is

given up
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49, Frafofas ¥ 4 #fa #99 ad 2014-19 %

sl.
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W wwa # fe e gt d s (s

3R |9 WER, 2 F faE) F ol § w9

22

(@) fren w e v =1 HAG w1 5%
a1 |

(b) T W for o =g awfye dar =1y
4% 91 |

(¢) MAM. & ufowm F w9 F foren w faru
o =g fade o1 |

d) @wed g3 ¥ fen =g we wm o
10% 91 |

UNDP (F@dld.) # wma  fam
i - 2020 % @R, w1 F ot § wEE 3
f&3 HDI (v=.#).3nd.) wewi # qun fem & 2

1. &9 W Sy guifEar

2. Toarerh foren % weanfir ad
3. ufa =afw GNI (Sf.va.am.)
4. faurerd foen & greg o

919 faw v F2 1 W@ w0 gh 3w gf
(a) &aer 132
(b) %aw 23 3
(c) aw 133
(d 1,233M4

R wwEn A v B F ¥ el g Afew
fafra & sy § fafafes & 8 |99 8
22

(a) A, B &1 WINY & H&al R 94l 39F
farafia

(b) A B AN & FEa B; A I F o
vz foufa 2

(¢) 3R A H &R, @B F IEw T
Bt

(d) = wf & wwd R

52. TSw @ @rw Hae #, <gEafher w5

ss'

(16-A)

FANTH & 99% 0 F o U wew
33N — I I9AY ARG & HEAYHA & HE g
W wwifae R 2

(a) W4
(b) WFI-5
(c) W6

(d) WmM.7

Frefafaa § 8 ¥17-3 s af # 2

1. e w1 sy el gem w s
AN H HEA 1 WY & g 2
&M, afz o & § @ ash § s
yata sfisafes T # gwavasd § |

2. wHudw uftfedi = v & @ s 4
e o s 8

5. wudm whfed % wvign froae w9 @
& o ssh F faw fu sma £

#r9 fau e 2 #1 v w0 wd 39 g .
(@ 1,233

(b) Fae 13 2

(c) Fad 233

d) *aa 133
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Which one of the following statements in the
context of social sector spending in India
during 2014 — 19 (both States and the Union
Government together) is true ?

(a) Expenditure on education was 5% of
GDP.

(b) Expenditure on health was 4% of the
social services expenditure.

(¢) There was a stagnation in the spending
on education as a percent of GDP.

(d) Health sector spending amounted to
10% of the total expenditure.

According to UNDP's Human Development
Report - 2020, in which of the HDI
components has India improved in recent
years ?

1.  Life expectancy at birth

2 Expected years of schooling
3.  GNI per capita
4 Mean years of schooling

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2,3and4

Which one of the following is true of a pure

voluntary exchange between two parties A and
B?

(a) A can exploit B or vice versa
(b) Both gain; it is a win-win situation

(¢) If A makes profit, it must be at the
cost of B

(d) Both can lose

(17-A)

The provision, ‘the State shall take steps to
geparate the Judiciary from the Executive in
the public services of the State' is incorporated
in which part of the Constitution of India ?

(a) PartIV
(b) Part-V
(¢) Part-Vl

(d) Part-VII

Which of the following statements are
correct ?

1. Speaker may permit any Member to

address the House in hisher
tongue, if he/she cannot
adequately express in either Hindi or
English.

2. Business of the

mother

Parliamentary
Committees is transacted either in
Hindi or in English.

3. The minutes of the Parliamentary
Committees are prepared invariably in
Hindi or English.

Select the correct answer using the code given

below :

(a) 1,2and3

(b) 1and2only

(¢) 2and3only

(d) 1and3only
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54. ¥R & wfawm & srede 12 # Fumfeotia | 57,
&g T @ gt 9 Frefafes § @ e
g2
(a) FHEHI HWY Hadd Wd GHR A & |
(b) FEHI AT Faer WA TR 3 WHEg 6
qEGH R |

(c) TEH AWH Hael WRA TWHR, Wwd 6
HE, a1 TS TS h Gwhnl I
faummesi @ & | 58.

(d) FHH AWE WRA HHR, WA 6 Hqoe,
H ST gl st e,
9T WRE F UG-8 & fiar woff v
3 s wrftremifei & 2

55. mwﬁmﬁ(vﬁﬂ)%dﬁuﬁﬁwﬁﬁaﬁm
U qaY 9 U9 FAA1 R 2 '
(a) Y eu
(b) formm
() TSEH
(d) wAleH

56. WA % Hfaum & fha sede & it damad | go.
4 wfgensti & fou sl (i) F smaw @@
Iyay foma mn @ 2
(a) =T 243
(b) =g 2437
(c) 3T=DT 2439
(d) =8¢ 243 ¢

NYRG-B-GNL (18-A)

2 e i @ % yfges &1 fafig ok
fopa fireren 2 2

(a) ariE:g fsrr el
(b)  aHiE- T
(c) &ag T wmel
(d) SfFFHHT

frfafaa & w1 dom gog =1 6f o
(a) #om

(b) ferdam

(c) THRIEEIETIH

(d) gL

st gr foflaa Sra qaade fedt i st
fope am & st st & 2

(a) G 3767 aTE
(b) PaIUZ IT BaTT
(c) &ha 3e7 siferar

d) FTaHI-U 25

frafefas 4 & St we smdem & sgrad
Torfifees woret 777 2 2

(a) faeeft smam =1 3@re $wa
(b) wifauife srEeE
(c) o, syafeys gorfifas wfa

(d) SHd HUEY
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54. Which one of the following is the correct
meaning of the term ‘State’, as defined in
Article 12 of the Constitution of India ?

(a) It refers only to the Government of
India.

(b) It refers only to the Government of India
and the Parliament of India.

t¢) It refers only to the Government of
India, Parliament of India, and
Governments and Legislatures of each
State.

(d) It refers to the Government of India,
Parliament of India, Governments and
Legislatures of each State, and all local
or other authorities within the territory
of India.

55. Which one among the following is the largest
State in terms of seats in the Rajya Sabha ?
(a) Andhra Pradesh
(b) Bihar
(¢) Rajasthan
(d) Karnataka

56. Under which Article of the Constitution of
India has provision been made for reservation
of seats for women in Panchayats ?

(a) Article 243 B

(b) Article 243C

(¢) Article243 D

(d) Article 243 E

NYRG-B-GNL

57.

(19-A)

The painted illustration of the moving of the
Ashoka Pillar at Topra is found in

(a) Tarikh-i-Firuz Shahi

(b) Tarikh-i-Shahi
(¢) Sirat-i-Firuz Shahi
(d) Akbar Nama

Which one among the following is a temple of
the Vaishnavite tradition ?

(a) Srirangam

Chidambaram
Gangaikonda Cholapuram
Thanjavur

(b)
(e)
(d)

The biography of Shaikh Muinuddin Chishti,
authored by Jahanara, is known as

(a) Munis al Arwah

(b) Fawaid ul Fuwad

(¢) Sirat ul Auliya

(d)  Muraqgga-e Dehli

Which one of the following is not a political
method of the moderates in the National

Movement ?

(a) Overthrow of alien rule

(b) Constitutional agitation

(¢)  Slow, orderly political progress

(d) Mobilisation of public opinion
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61.
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&t Zge qreadt 3§ fa don st o
(a) gﬂ“ﬁﬁ

(b) &a1 |

(c) WeASHTEH Gdi &

(d) ghamr

‘(fafewr) wwpm & g (aoft) Afeos gavl %
aftem’ &1 g feas 2 e mn o

(a) STHEAN G

(b) HfETH 3rEw sEreH

(c) WNE BIE HEE

(d) e e @ fady

U % FE-HA (T WH) % wEy W
frafafaa & @ Savaa sa ad 274 o
1. 997 29 % o0 us wree |ug R |

2. 3euM iR Feem duege st @ead
divee & fir weram §

8. Wi wHE qwy (amd.uw A, ), s A,
¥ g ge ue fis & |

A1 faw mu e # i o a3 gfi
(a) %ae 1

(b) e 2

(c) ae 13 2

(d) aer 133

D 3 7 € # wegn-an, g w3k fafim ditg
wai #1 g fFn | I Frofefas & & feg
T/EY -89 %1 v a2

(a) fomrae wew
(b) ITEE
(c) faferrm
d) wErE

67.

(20-A)

frferfaa & @ form o 4 w61 awa g
wr@l 3R qmE @t wwan, gE R ast Bl
L &

(a) g™

(b) WETTE
(¢) WY

d) afterrg

fraferfiaa # & fores f (aifdh) # -
(a) =T

(b) &1

(c) hrIE

(d) «m®

S A wia & frelt vsw F v % o wrm
afa (Wg) s grrea yard 36 | = g T
faeredt d & 39 Tsg & grEm i |

(a) Yo"
(b) EfTon
(c) TRwmee wawm

(d) TS™

frafefen @er wqel 4 @ #9 fa Feam
T s’ e & amareff & 2

(a) &Y arefror wigemd

(b) |t a9E WA e A
(¢) TR @ A 9 F aeft gfan
(d) TR H HM et aft 9u yardh
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61. Swami Dayanand Saraswati took inspiration
from
(a) Puranas
(b) Vedas
(¢) Medieval saints
(d) Saufism
62. The call for ‘renunciation of (all) voluntary
associations with the (British) Government’
was given during
(a) Non-Cooperation Movement.
(b) Civil Disobedience Movement.
(¢} Quit India Movement.
(d) Protest against partition of Bengal.
63. Which of the following statements is/are
correct with respect to Time Zone in India ?
1.  There is one standard time for the whole
country.
2. Andaman and Nicobar Islands and
Lakshadweep Islands have different
Time Zones.
3. Indian Standard Time (IST) is five and
half hours behind GMT.
Select the correct answer using the code given
below :
(a) 1lonly
(b) Z2only
(¢) 1land2only
(d) 1and3only
64. D had recently visited Khardung La, Nubra
Valley and several Buddhist monasteries.
Which one of the following States / UT had she
visited ?
(a) Himachal Pradesh
(b) Uttarakhand
(¢) Sikkim
(d) Ladakh
NYRG-B-GNL

67.

(21-A)

Which one of the following States receives
rainfall from both the Arabian Sea branch and
the Bay of Bengal branch of Monsoon ?

(a) Punjab

(b) Maharashtra
(¢) Meghalaya
(d) Tamil Nadu

Inceptisols, Entisols, Vertisols and Mollisols
are orders of which one of the following ?

(a) Sugarcane
(b) Soeil

Coal
Copper

(c)
(d)

S had witnessed contour bunding and contour
ploughing while visiting one of the States in
India. Identify the State from the options
given below.

(a) Punjab

(b) Haryana

(c) Himachal Pradesh
(d) Rajasthan

Which one of the following target groups is the
beneficiary of ‘Garib Kalyan Rojgar Abhiyan’
scheme ?

(a) All rural women

(b) All returning migrants
(¢c) All below poverty line households

(d) All new migrants to town
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69. HH 1 W gh 1 F @y gafem Hifsw st 7.
gfeai % H9 By 52 w1 w@m W= ad I
g ;

g1 g n
(%) (&%)
A WFTHE 1 gEehR (3wEE)
3R T
B. fomam 2 =3t st goem
C. WEak 3 Y HYG 9 F
famon & smgEa
D. ¥ aF 4 I I EE Ry
H1 3T
72.
T
A B D

(a) 38 4 1
(b) 2 1 4
(¢) 3 1 4

d 2 4 1

70. Fr=afefaa 8 & veifusrlt sffar = fafie

FETE T B 2
(a) W&U HEM ATAR
(b) \EA % for wm
(c) W &

(d) Hiveaw s F e am amom
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73‘

(22-A)

gfam (10191 @vinm) wfefam, 2016 &
A H WRdE sEe 3 ad 2017 #
Mewd. s # sffafe fea
frafafas & & #Rm m o 4 s
TR

(a) 4 T af Fan F Afulam
(b) THiHa we 3R Fan w0 Al

() W 3 Ja W (U B wfaw)
sty

(d) U= e 3 Har = Hfufay

vadd fewem % dey o fafafes § 3
Fm TA 77T R0

(@ %} T fawm, fau daem & anfi
fasiy foarefta e i (wsiedt) 2

(b) ¥® faasht wz waw sfufm, 1000 @
AT Al R |

(¢ ¥& waues famo sfafam, 2002 %
T R

@) F7 dFrf Hufe wegeEr vy sfufas,
1988 T Yad &l & |

Frafafea § & S wd 727 2 2
(a) N 3 9w oo gt fawa
(b) Heg P avadl g @ g &
() #m &= gt # wnfis w8 2 |
(d) ‘T wwadi g w1 fwa ?
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Match List I with List IT and select the correct

answer using the code given below the lists :

List 1
(Curve)

B. Phillips curve 2.

C. Engel curve 3.

D. Laffer curve 4.

Lorenz curve 1.

List I1
(Indication)

Inflation and
employment

Tax rates and tax
revenue

Inequality in
distribution of income
or wealth

Income and proportion
of expenditure on food

Code :

(a)

(b)

(c)

(d)

70.

Which one of the following is a typical example

of monopolistic competition ?

(a)

(b)

(e)

(d)

NYRG-B-GNL

Retail vegetable markets
Market for soaps
Indian Railways

Labour market for software engineers
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72.

73.

(23-A)

Following the Constitution (One Hundred and
First Amendment) Act, 2016, the Parliament
of India enacted quite a few GST Acts in the
year 2017, Which one of the following does not

fall in this category ?

(a) The Central Goods and Services Tax Act

(b) The Integrated Goods and Services Tax
Act

(¢) The Goods and Services Tax
(Compensation to States) Acts

(d) The State Goods and Services Tax Act

Which one of the following is not correct in
respect of Directorate of Enforcement ?

(a)

(b)

(¢)

(d)

It is a specialized financial investigation
agency under the Department of
Revenue, Ministry of Finance.

It enforces the Foreign Exchange
Management Act, 1999,

It enforces the Prevention of Money
Laundering Act, 2002.

It enforces the Prohibition of Benami
Property Transaction Act, 1988,

Which one of the following is not correct ?

(a)

(b)

(e)

(d)

Taxes on agricultural income is a subject
under the State List.

Price control is a subject under the
Concurrent List.

Insurance does not come under the
Union List,

‘Forests’ is a the

Concurrent List,

subject under
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74.

75.

76.
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Ud $ T Fawd & Wey $ geg o
frafafigs § & S s a8 777 2 2

@) T & ¥ T4 & sfafifeg & #8
YT T8 2 |

Y | fafrn # 99 § gof 759 F w9
¥ wfier =& foear ma a1 |
Yid % ®eum # Wy ww F faw
FI=92 3719 & I 9y vy fru
mE |

a1 d@f9un s Rt F dhm
T WHR B THES UgHE B uhE
S 4 d qem 9 2 |

(b)

(c)

(d)

R F Hfaum G @ s it
A i T 3w R | fhg 98 s o=
g e wfawa gfrges fdad & sed
2 1 3 Fdur fafafes & & fred defim @
THd & 2

1. "HEf

2. foerm sgen A

3. ferelt srvoy & fore swamn (samgeiie)
= fu e gz =1 v@m = w3 gfi
(a) A 1

(b) e 23K 3

(¢) e 133

d 1,233

wRA & wfgur # fafafes § 3 |01 gei
Tt smma i 3gEivon 1 =nfr e @
I R ?
(a) 3991 H9gs
(b) 40ai HEH
(¢) 42af H9igs
(d) 44ai G9ia

7.

78.

79.

(24-A)

Teifen e (fafrmm sfufem), 1773 wfa 83
% a1 frafafea § 3 frg s sfmd =1
Ta SR F 92 T YerEd oA T o 2

(a) aRA Bfm

(b) e AT

AR U
fefer wiftm

(c)
(d)

1870 % ZI% HI WER H4GT VF & H2eT
frafafes & 3 frg femam =1 y9r @
a1 ?

(a) ﬁiéﬂ@??ﬁlm

(b) AT 3R il GIaF gaR

(c) Fm 3 Hiwrar 29

(d) WA

Frfafgn & & fem =f @ adsfs @

Tofya &8 off 2
(a) 1884
(b) 1876
(c) 1869

(d) 1870

fefofen & & F-m o s e seom
a1, fowehi wftfe wm wr=at qon g et §
Hifqdt & fore fofeg 2 2

(a) HHE

(b) I

(c) 9ER

(d) ftwnig
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74. Which one of the following statements is not |77,
correct about the nature of India’s federal
system ?

(a) There is no equality of representation of
States in the Council of States.

(b) Sikkim was not initially included in the
Union as a full-fledged State.

(¢c) Special provisions have been laid down
in the Constitution of India for Andhra
Pradesh under Article 371 D.

(d) The Constitution of India enables the 78.
federal government to acquire the
strength of a unitary system during
emergencies.

75. The Constitution of India guarantees freedom
of speech and expression, But the freedom is
subject to certain reasonable restrictions
imposed by the State. These restrictions may
relate to which of the following ?

1.  Defamation

2. Decency or morality

3.  Incitement to an offence Cino

Select the correct answer using the code given

below :

(a) 1only

(b) 2and 3 only

(¢) 1and 3only

(d 1,2and3

76. Which one of the following amendments in the 80.
Constitution of India made a Proclamation of
Emergency immune from judicial review ?

(a) 89" Amendment

(b) 40" Amendment

(¢) 42"4 Amendment

(d) 44" Amendment

NYRG-B-GNL (25-A)

Which one of the following British officials
was elevated to the position of Governor
General after the Regulating Act of 1773 ?

(a) Warren Hastings

(b) Lord North

(¢) Mountstuart Elphinstone

(d) Philip Francis

Which of the following ideas was preached by
the Kherwar or Sapha Har movement of the
1870s ?

(a) Acceptance of the Hindu pantheonic

order
(b)  Monotheism and internal social reform
(¢c)  Philosophy of Yoga and Mimansa
(d) Polytheism

In which one of the following years was the
Poona Sarvajanik Sabha established ?

(a) 1884
(b) 1876
() 1869
(d) 1870

Which one of the following was an important
Pandya port, celebrated for its pearls in
Sangam poems and Greek accounts ?

(a) Muchiri

(b) Korkai

(¢) Puhar

(d) Arikamedu
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81. fova Fm el foym ®, foed @ht fawd

Tererfiren =1 7 =1 2
(a) gfvedt g
(b) W& HEMFEH
(e) ‘{'ﬂffﬁ

@ 9 &

anfesh et TIogw SNl HREAT (ST)
o s g w9 o 2

(a) 7% AEH
(b) 7% ATE
(e) ’ﬁﬂﬁh
(d) T Tifag fim

. udE gawi adew g fafife swy dwe

&3 % gay # Frafefea 7 § 959 wfus Sifew
H ghend 2

(a) fohzuam o wmesh
(b) ¥R H TR
(¢) Tt & aredt
(d) wEvar 7 w5

. HR 39 % wE gwiaa &9 % o us Qe

Fam Fe wmEdt 8 | Frefafes 4 | fve @3 w
@Al § e Hiza fwn smom 2

(a) WET AW WRBW
(b) T & Azr @
() In-gi &=
(d) %o &

85. =N =fth WA F fmfim osai 6 o = @

87.

(26-A)

# | 9 fengwram & a9 & fu 63 sy
&

(a) IPUTES WA 9 AT =4k W
(b) 31EW T e =Afeh ®
(¢) Fagu oM = =afs #
(d) snfem I T = i

ﬁwﬁuﬁaﬁéﬂammﬂwﬁ%ﬁaﬁ
F9q (witidz) 727 & 2

(a) TFEHH
(b) ¥EH
(c) HATTEE
d) &

e g () & fe 3 el & e h 2h
AR

(a) WPTERTI B TR

(b) w9 H A

(c) WATEAl & &g

(d) FEREF T@m

ffafgs @ @ fow favea wfdedas
(Aot foad) # v, gfm (d),
e fufd, san %98 3 mm (i) a=
Ahyame wffom & 2

(a) Herad HAfa-vze giftm-g9

(b) WAR F @ Arasiee wifia-a

(¢) et Sfrasiee ddfda-gm

(d) g sfavee adm-a

Previous Pathshala




27

81. The town of Chisht, from which the Sufi
Chishti Silsila derives its name, is located in
(a) Western Turkey
(b) Central Afghanistan
(¢) Eastern Iran
(d) Eastern Iraq

82. The rules for congregational worship (Sangat)
involving collective recitation were organized
by
(a) Guru Nanak
(b) Guru Angad
(¢) Guru Arjan
(d) Guru Govind Singh

83. Who amongst the following will be at more
risk with respect to the earthquake hazard
zone specified by the Geological Survey of
India ?
(a) Shahji at Secunderabad
(b) Ranbir at Indore
(¢) Malti at Pithoragarh
(d) Maitri at Bhubaneswar

84. The Government wants to prepare a plan for
drought prone areas of the country. Which one
of the following regions will be predominantly
focused ?
(a) Coastal Andhra Pradesh
(b) Ganga plains
(¢) North-eastern region
(d) Kutch region

NYRG-B-GNL

87.

(27-A)

Four persons are travelling to different States
of India. To whom will you advise to protect
oneself from blizzards ?

(a) The person travelling to Arunachal

Pradesh
(b)
(c)

The person travelling to Assam
The person travelling to Tripura

(d) The person travelling to Odisha

Which one of the following States is not
prominent for plantation agriculture ?

Rajasthan
Assam
Nagaland
Kerala

(a)
(b)
(e)
(d)

The distance between which two cities has
been reduced by the Atal Tunnel ?

Bagdogra to Gangtok
Jammu to Srinagar

(a)
(b)

(¢) Manali to Leh

(d) Itanagar to Tawang

Which one of the following biosphere reserves
comprises islands with estuaries, beaches,
coral reefs, salt marshes and mangroves ?

(a)
(b)
(e)
(d)

Sunderban biosphere reserve
Gulf of Mannar biosphere reserve
Nilgiri biosphere reserve

Nandadevi biosphere reserve
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89. Wi % #fawm % Hed d fefafes § 3

FH-H H TE TR 2

(a) Hfawm & (s859) @wiga sfufrem & zmo
FTede 215 % ad ‘T =1 afver’
wrer T R |

ol.

gifaufas wivs & daw § fafeafes § 3

FH-AVRA-A F9T TE A8 0

1. Hfaum 1 HeT w0 6 i seer
368/ Ivafug & |

2. wfeuym #1 @A 9 gad fadgs #
oz & fodfl ot wgq d wega e

(b) ¥F=dr 22 § fans iy % ar § 3@ Ha&Ha B |
foam mram 2 | 3. Fgear 368 #1 fafire wfkan amm= faum
g wfewrdt wferat At
(¢) wifgwfas Ivaml &1 sfusr d@f@um * o 4
s 5 R d | ﬁﬁnmﬁmﬁmw@maﬁz
(a) a1
(d) I= I f e sfefa, swa $ b 1,233
Ieuaq AT 8 A = R | © Fmaddcs
(d) wHaer 1 32
. 92. fFr=fafea 4 3 fg offefa § wra & dfaum
. T e & waw d fofefes @ @ @R % ag=dz 352 % onfiA WRa & Wl g
wuA w9l 77 R 2 H9Ta 1 IgEmen FF7F A o 2 0
(@) W 1942 F fw wwR g v | @ T
e (b) ETEI HATHHY
(¢) SATafes smwfa
(b) %84 u® weaE B @ f6 wra & dfaum i
w P wwdm @it B oo faifm| 0 @ T
dfaum v gro faer = |
93. ¥wat 3 1598 # oA % FA (@wm) Tm F
() Fom et wia =t sfeam e 76 dm, foras Fmfn & for o ot w0 squfa & 2
% g faamm s wifaufs agagl i
] T @A F foru w=am B | o
s (b) fr=mer (=)
(d) war gfmfed &1 ae fedt o
WA % §19 g Fitauis sqaean § 53w ) S PR :
wEHA 2 | (d W9 IR
NYRG-B-GNL (28-A)
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Which one of the following is not a correct
statement with reference to the Constitution
of India ?

(a) The Constitution (Eighty-Fifth)
Amendment Act has inserted the ‘Right
to Education’ under Article 21A.

(b) Article 22 talks
detention.

about preventive

(¢) Right to Constitutional Remedies is in

Part-111 of the Constitution,
(d) Writ jurisdiction of High Courts is wider
than the Supreme Court of India.

Which one of the following statements about
the Cripps Mission is not correct ?

(a) It was sent to India by the British
Government in March 1942,

(b) It proposed that the Constitution of
India was to be framed by an elected
Constituent Assembly of the Indian

people.
(¢) Any province which was not prepared to
accept the Constitution would be free to
retain its constitutional provisions
existing at that time.
(d) The British Government could enter into
a separate constitutional arrangement
with any of the acceding provinces.

91.

(29-A)

Which of the following statements regarding
constitutional amendment is/are correct ?

1. The procedure for amendment to the
Constitution is provided in Article 368.

2 A Bill to amend the Constitution can be
introduced in either House of the
Parliament.

3. The special procedure in Article 368
vests constituent powers upon the
ordinary legislation.

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 only
1,2and 3

2 and 3 only
1 and 2 only

Which one of the following is not a
circumstance for proclamation of Emergency
by the President of India under Article 352 of

the Constitution of India ?
(a) War

(b) External aggression
(¢) Internal disturbance
(d) Armed rebellion

Akbar issued a Farman in 1598 permitting in
the city of Cambay (Khambat), Gujarat, the
construction of a

(a) Temple

(b) Church

(e) Synagogue

(d) Jain Upashraya
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. WENHEH At S 99 3 e am w9

. Y9 g B areht a6 aen faefafea § 3

. o (i) Freffas # @ fra wen 6

. A fEw (gge) & fan R sivifere dm o
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fem 2 2

fwa waifem 727 &t & 2
(a) Y9 & diear
(b) TAEEE S
(c) &7 & WK
(d) &3 i FeEy

9z R 2
(a) Wﬂ
(b) ¥
(c) SeArg
(d Hfa=w

sundE w o R gmhn w1 emar
T #1 HEena # 2

(a) T

(b) Tovamr

(c) YfEH

(d) W9 (IT3THEF)

98,

vEdl # AW ae wE i afeat =g s
M (deet) F 7l anoft FE fAEy =@
&2

(a) Wt

© (b) ®WR

100.

(30-A)

(e) WIS

(d)

fatesamaet & d@ag § fefafes 8 @

FHFUEEA HuT w2 0

1. wow uefie fafads 6 v anm
fratasammaef #rdt 2 |

2. v, gwew, wifa, fém, 1 = | feft o
% Fr W w1 = Fafesamedd §
wftafera fvu o & form amm @i 8

3. WA H HY AU, A FH-FFH 18 99
] Ay /g R, AN HaTH
gHa/asdl B, 9@ 7% & fed qufam
faurmza it el fafa & anflm =&
?@(M)Wmﬁmm
|

fr2 fau e e &1 wm w0l 3w g

(a) e 1

(b) 1,233

(c) whaw 23 3

(d) Fae 13 2

‘Rfefafir’ F am § fnafafes § 8 S

LU

(a) T UFHGA IR AEEG F Ggw T R |

(b) w7 =uferat & worifes waaa g9 s
2, frq 7= aferes e =@ dan |

() ¥oH A HHS H IHe HAafifwa B |

(d) HWEA: T8 UHIAY U *® w9 A
qEEE A R |
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Domingo Paes, the medieval traveller, has
described the city of

(a) Madurai
(b) Vijayanagara
Arikamedu

Gingee

(e)
(d)

The extent of damage caused by earthquake is
not influenced by which one of the following ?

Strength of earthquake
Population density
Type of building
Climate of the area

(a)
(b)
(c)

(d)

An avalanche is a type of which one of the
following disasters ?

(a) Atmospheric
(b) Terrestrial
(¢) Aquatic
(d) Biological

An infection constantly maintained at a
baseline level in a geographic area without

external input is known as
(a) Endemic
(b) Pandemic
(c) Epidemic

(d) Outbreak

(31

98.

100.

-A)

Streams and rivers coming from the
mountains deposit heavy materials of rocks
and boulders in

(a) Khadar
(b) Bhangar
(¢) Bhabar
(d) Terai

Which of the following statements regarding
the electoral rolls is/are correct ?

1. There is one general electoral roll for
every territorial constituency.

2.  No person is ineligible for inclusion in
the electoral roll on grounds of religion,
race, caste, sex, or any of them.

3. A citizen of India, not less than 18 years
of age, can cast his’her vote unless
disqualified under a law of an
appropriate legislature.

Select the correct answer using the code given
below :

(a) 1only

(b) 1,2and3
(¢) 2and3only
(d) 1and 2only

Which one of the following statements is not
correct about “Totalitarianism’' ?

(a) It is not akin to autocracy and

authoritarianism.

(b) It usurps political freedom of the
individuals, but it doesn't usurp
personal freedoms.

(c)
(d)

It implies abolition of civil society.
It is usually identified with a one-party
state.
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101.

102,

los.

IM.

105.
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FaATY TR 2020 & fou Fafafaa & @ f5a
A1 T 7

(a) . Tz fFeir gre

(b ifoamy a9y

(c) fawm @3

(d) =69 W

Hadt S 2 dofafys, 2020 # 21 foféfs
YeE e Al wmell Wi mfien
) feffead d s g amar 22

(a) Wefies
(b) e
(c) 7a« 2fm

(d) Esh

AW U 49 FEl g R 2

(a) ﬁ
(b) uifrEa™

(¢) HEMEE
(d) ¥=3s

el s fras fee foom & 2

(a) Hoa $ e (R=y 36 i)
(b) fowargar ufem

(c) &M gg wfem

@) uwa # wfam (2P=g FiE 3HH)

ura a2 faefia A an 2 2
(a) it 2% (et ¥%)

(b) FEAS e VAL (WA e
&)

(¢ wam fifm vdvma (AfRIE mees
fiargar)

(d) wafad I@Eet mH (amiE Rk
e )

106.

107.

108,

109.

110,

(32-A)

‘itat e-dwar’ TR ?
(a) TEIS 8 WG U 34 gl

(b) W # fieia sfuwo =1 $eafem
9

(¢) v ufdes R

(d) FFER (UNESCO) % us fava wirer woe
1 98

st (p) wiore € qog (f9) s a2 0
(a) 1,000 - 2,000 km
(b) 2,000 - 3,000 km
(¢) 3,000 - 4,000 km
(d) 4,000 - 5,000 km

Frafafgs wda o4l 4 @ e v @ &
A 1 TR TdA-qe oY Hifte fea 2 0
(a) g™

(b) frurae w2w

(c) dfEeTg
(d) TrE

wie 3am fawm fa sm R 2
(a) foae darem

(b) W 3EM HEE

(¢) WUF Wt e

(d) sy va Igm HEEE

frafafen wefaage % et afm 1 s
siafe A % IR W 9Ed ¥ AW F@ 7
HTeEATER safega $ife .

1. g faferens

2. 1w ymi

3. forfrw srgen

4. FHegl FEen

Hra fau e e & w@m W ad I g .

(a) 4-3-2-1

(b) 2-4-1-3

(c) 2-1-4-3
(d) 1-4-3-2
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103.

104.

105.
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Who among the following was chosen for the
Kuvempu Award 2020 ?

(a) Dr. Rajendra Kishore Panda
(b) Amitav Ghosh

(¢) Vikram Seth

(d) Chetan Bhagat

Avani Lekhara became the first Indian woman
to win two Paralympics medals at the Tokyo
Paralympics 2020. Which one of the following
was her discipline ?

(a) Badminton
(b)  Shooting
(c) Table Tennis

(d) Archery

Bagram Air Base is located in
(a) Turkey
(b) Pakistan

(¢) Afghanistan
(d) Israel

The Panchmuli Lake is situated near
(a) Statue of Equality

(b) Thiruvalluvar Statue

(¢) Dhyan Buddha Statue

(d) Statue of Unity

Pinaka, developed in India, is a

(a) battle tank.

(b)  multi-barrel rocket launcher.
(¢) anti-tank guided missile.

(d) armoured utility vehicle.

lm.

IM.

108.

109,

110.

(33-A)

What is itat e-dwar ?

(a) An Urdu magazine published from
Lucknow

An e-filing portal
Appellate Tribunal

A religious monument
Name of a UNESCO world heritage site

(b) of Income Tax

(c)
(d)

What is the range capability of Agni-P
Ballistic Missile ?

(a) 1,000~ 2,000 km
(b) 2,000 - 3,000 km
() 3,000 - 4,000 km
(d) 4,000~ 5,000 km

Which one of the following Indian States has
recently declared itself as the first rabies-free
State ?

(a) Punjab

(b) Himachal Pradesh

(¢) Tamil Nadu

(d) Goa

Department of Public Enterprises is a part of
(a) Ministry of Finance.

(b) Ministry of Heavy Industries.

(¢) PMO,

(d) Ministry of Commerce and Industry.

Chronologically arrange the following
Indian-origin astronauts on the basis of their

flying into space starting with the first :
1.  Sunita Williams

2.  Rakesh Sharma

3.  Sirisha Bandla

4. Kalpana Chawla

Select the correct answer using the code given
below :

(a) 4-3-2-1

(b) 2-4-1-3

() 2-14-3

(d 1-4-3-2
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apafa Sree qrgd, e ae @ 3 wen WA
wé off, Frefefaa § & fra 2w % ogufa 9 0

(a) S fofeses
(b) et
(¢) TaTeHTEN

(d) =

B B, YRE @R % I frafefee § @
g warerg &1 mew o w2

(a) e 3 Feftwofiy st g
(b) IRt & fampmm e

(c) WS Hae™

(d) vt wifeh wATe

R A1 9 377F, 09,09, & (INS Tabar)
3 E@ @ d gaedt A F wy 3)Rady
M arvre # wm o o1 | 9w sy @Rl
genfera fapar man o1 2

(a) FNFET GTR

(b) ufgmfes am
(¢) erEUfET |

(d) WHeT BR

fawa ey wew g Feefafaa & & fea 2w
& ge @ 0 gefEgew e wem R mn
22
(a)
(b)

™
YA

(¢c) =M

(d) e

frafafaa & @ fFd ad 2020 & wivft wiifa
R § wEie faman 2

(a) mﬁwmmm
(b) W@ yfie e
(c) UHel AW 7=
(d) HeAW TS

116. B @ 8 wreneto =4 smrEnt § s 2

117,

118.

(a) ¥ TIS Y Heble 90 70
(b) ¥9& HI& YHTE] F HIO|

() %9 ¥@ W @Y 3N Fwyed ™ e &
IO

d) ¥ e v e 20 fien

frafafaa § @ often &1 998 g peam
TAtHe - R 2

(a) WEWH HY

(b) Ham gihr

(c) Q}!W

(d) Tad wY

Hreifus # g ofted el wwelt Wi wfgen
freafafgada s 2 2

(a) VW APvEl

(b) HieraTd =T

(¢) d.&. 3w

(d) . fayg

119, WA Fevm (w6 weme) 3 2 siefies,

120.

(34-A)

2020 # fr=ferfaa & & firg 7w & wm foren 2
(a) IR afreifies s

(b) WRF HEwE wHd

(c) Iﬁmﬂﬂ‘r{‘ﬂm

(d) Trm foferws wfid

‘@ qe favm - sige’ o frsfafaa

A | BH-AVEE-E TEY Ts-aa/aE 7 Ay

ey fean smom 2

(a) fowraer wew va sfEmm o freEm
FRLE

(b) IWgHl &7 vd sigwH I frepEm
wvEE

(¢) IW-gHl &= vd TEE

(d) I YW UH A
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113.

114.

115.
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President Jovenel Moise, who was
assassinated recently, was the President of
which one of the following countries ?

(a) Dominican Republic
(b) Haiti

(¢) Guatemala

(d) Cuba

Recently, which one among the following
Ministries was formed under the Government
of India ?

(a) Ministry of New and Renewable Energy
(b) Ministry of Development of
North-Eastern Region

Ministry of Cooperation

Ministry of Jal Shakti

(e)
(d)

Indian Naval Ship INS Tabar had recently
participated in a two-day naval exercise with
the Italian Navy. The exercise was conducted
in

(a)
(b)
(e)
(d)

Ionian Sea,
Adriatic Sea.
Tyrrhenian Sea.
Mediterranean Sea.

Which one of the following countries has
recently been awarded a malaria-free
certification by the WHO ?

(a) Pakistan
(b) Bhutan
(¢) China
(d) Nepal

Who amongst the following was honoured with
Gandhi Peace Prize for the year 2020 ?

(a) Qaboos bin Said Al Said

(b) Sheikh Mujibur Rahman

(¢) Ekal Abhiyan Trust

(d) Sulabh International

116.

117.

118,

119.

l ”’

(35-A)

Why was Dholavira in the news recently ?

(a) Skeletons discovered at this site

(b) For its conservation effects

(¢c) For the discovery of gold and precious
stones at this site

It received the UNESCO World Heritage
Tag

(d)

Which one of the following is the oldest
football tournament of Asia ?

(a) Federation Cup
(b) Santosh Trophy
(¢) Durand Cup
(d) Rovers Cup

Who among the following is the first Indian
woman to win a medal in the Olympics ?

(a) Karnam Malleswari
(b) Mirabai Chanu

(¢) P.T.Usha

(d) P.V.Sindhu

The Russian Federation participated in the
Tokyo Olympics, 2020 under which of the
following names ?

(a) Russian Olympic Committee
(b) Russian Federal Committee

(¢) Russian Sports Committee

(d) Russian Republican Committee

Which of the following States/Union
Territory/Region are in special focus in the
National Mission on Edible Oils - Oil Palm ?

(a) Himachal Pradesh and Andaman and

Nicobar Islands

(b) North-East Region and Andaman and
Nicobar Islands

(¢) North-East Region and Gujarat

(d) Uttar Pradesh and Gujarat
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